EEER (SEk (EEEX) )
| HETAT4 | KIEHET |
| FEErzI| 20:00 |
ER
X5 % L3 i
EFELUAHEER 13,902 A| 14,485 A| 28,387 A
BEEH 7,055 A 7,460 N[ 14515 A
AR LEEREEH 4,375 A 4,459 A 8,834 A
HERTREER 2,642 A 2,976 A 5,618 A
TEEREERK 38 A 25 A 63 A
ZHEEH 6,847 A 7,006 A 13,872 A
BEX 50.75 % 51.50 % 51.13 %
=5
X5 % = i
EFLUAFEER 29 A 24 AN 53 A
BEEH 1A 2 A 3 A
MR LEBEERK 0 A PN 0 A
HARREER 0 A PN 0 A
THEEEREN 0 A 0 A 0 A
ENDNEREEH (PN 2 A 3 A
BEFEEEH 0 A 0 A 0 A
ZHEEH 28 A 22 A 50 A
BEX 3.45 % 8.33 % 5.66 %
EAR+ES
X5 5 = i
ERELUEFEEH 13,931 A| 14,509 A| 28,440 A
BEEH 7,056 A 7,462 N 14518 A
ZHEEH 6,875 A 7,047 AN 13,922 A
BEX 50.65 % 51.43 % 51.05 %




